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1. The height of the skirtboard installed on scaffold platform must not be
shorter than

a. 125mm
b. 150mm
c. 175mm
d. 200mm

2. Which group is allowed to enter the confined space?
a. Engineer
b. Construction Supervisor
c. Contractor
d. Anyone holds the Confined Space Entry Permit

3. If the following chemical labels is stated on the chemicals, what kind of
property does it possess?
a. Explosive
b. Inflammable
c. Toxic
d. Harmful

4. If the following chemical labels is stated on the chemicals, what kind of
property does it possess? ;
a. Explosive
b. Inflammable
c. Toxic
d. Harmful
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10.

Which of the following signs represents concrete? A
a.

b.
C.
d

A

B
C
D

Which of the following groups of paint can be mixed?

a.

b.
C.
d

Textured latex paint and Emlusion paint
Emulsion paint and Polyurethane coating
Emulsion paint and Oil-based paint
Epoxy coating and Oil-based paint

Which of the following colour is coloured paint?

a.

b
C.
d

Red
Black
White
Grey

Which of the following models of wood (red) sandpaper has the largest
diameter of sand granules?

a.

b.
C.
d

No. 100
No. 120
No. 150
No. 180

Which of the following materials has the slowest rate of volatilization

a.

b.
C.
d

Naphtha
Thinner
Alcohol
Turpentine

Which of the following paints has the slowest rate of drying?

a.

b.
C.
d

Spray paint
Enamel paint
Brushing lacquer
Clear Lacquer
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11.

12.

13.

14.

15.

While using oil-based paint, the main reason for the appearance of paint
runs is that

a. The brush head is too short

b. The paint is unevenly painted

c. The colour is too dark

d. The amount of thinner added is too much

The consistency of oil-based paint being too thick would easily cause

a. Wrinkles

b. Undissolved particles
c. Gap

d. Cracking

While using oil-based paint, why does the colour of base and top coat
differ?

a. lItis to increase the hiding power of the paint

b. Itis to increase the adhesion of the paint

c. lItis easier to check the layer of paints

d. Itis to make the surface of paint smoother

Which of the following colour has the shortest wavelength in the

spectrum?
a. Purple
b. Red

c. Yellow
d. Green

Which of the following groups of paint cannot be mixed?
a. Textured latex paint and emulsion paint

b. Clear lacquer paint and brushing lacquer

c. Gloss latex paint and oil-based paint

d. Varnish and oil-based paint
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16.

17.

18.

19.

20.

What does the following signs represent? ”

a. Wood //

b. Bricks /

c. Cement sand //

d. Concrete
Which of the following methods is better in terms of handling heavy
loads?

a. Reduce bending the waist for lifting

b. Find other construction workers for assistance

c. Tryto use machine for assistance

d. Tryto handle it alone to show your strength

What kind of tools should be used for surface filling and patching up?
a. Painting trowel

b. Steel Plate For Filling

c. Paint scraper

d. All of the above

In violating the section 9 of the Prevention of Bribery Ordinance, the
maximum penalty is

a. Imprisonment for 10 years

b. Imprisonment for 20 years

c. Afine of $10,000 and imprisonment for 1 year

d. A fine of $500,000 and imprisonment for 7 years

Which of the statements is an example of "sugar-coated trap"?

a. One pays the fee for continuing education by onself

b. One pays the dining fee by oneself

c. One pays the travel fee by oneself

d. One accepts the private discount or service from subordinators or any
business-related person

- End of Paper -
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